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04 JAN 2023

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
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BILINGUAL

04 JAN 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS
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January 2023
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10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

18 JAN 2023

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI

25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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A train travelling at 44 km/h crosses a man walking with a speed of 8 km/h, in the same
direction, in 15 seconds. If the train crosses a woman coming from the opposite direction

in 10 seconds, then what is the speed (in km/h) of the woman?

44 fopaft/ger T Afd & IEAT A arell T ¢ AT feem # 8 forait/ger & aifa & T |
Th b P 15 Ghs H TR wLdl . Ii¢ ¢ fauda feem & 31 W T Afgelr A 10 b3 A

O Hdl &, dl HAfeol &1 afa (fpet/ger #) =ar &2

1.8.5
2.9
3.10.5
4.10
5.12



The number of mainas and parrots in an zoo is in the ratio of (4x + 5) : 4x. If 25 mainas
and 10 parrots are added to the zoo, then, the ratio would change to 5 : 3. How many

mainas are there in the zoo at initial?

U RISATER A A 3R didl & &A1 (4x+5) : 4x b U A &1 Il RfSAER d 25 A=
AR 10 A9 SIS S &, d 3T 5: 3 3 gaer ofua| RARATER 3 URM TT & fhaa A

&7

1.20
2.30
3.35
4.25
5.NOT



Ravinder can cut a tree in 6 days, Sudhir can cut the same tree in 12 days and Sunder can
cut it in 18 days. Ram is thrice as efficient as Sunder. If Ravinder worked on the same

tree for 1 days, Sudhir worked for 2 days and Sunder worked for 3 days. Find the number
of days Ram will take to cut the remaining tree alone?

deT Teh Us Al 6 Al # P Hhdl &, U 38 U3 &l 12 &l A &I Fhal & IR eI
58 18 f&l # &Ic Gobal &1 TH el F I T[T U &1 Ife e 38 95 W 1 A A
AT &, GUR 2 &l & fIUw oA dr § 3R X 3 Gl & T & HXar &1 TH &l 3chol
AY US &l dicd H fhdal & craiar?

-

1.3 days
2.4 days
3.2 days
4.1 day
5.NOT




Vessel A contains (2x + 360) liters mixture of milk and water in the ratio of 7:5 and vessel
B contains a 200 liters mixture of milk and water in the ratio of 3:2. If vessels A and B are
mixed together, then the ratio of the milk and water becomes 47:33. Find the value of x?

UrT AH Y 3R Ul @1 (2x + 360) olieX THHOT 7:5 & 37uid A § 3N o BH 3:2 &
Hgurd H g 3R Urel BT 200 ofieX fAHAUT T IiG add A HR Bl T @Y AT ST &,
dl g 3R UTAT T 31gUrd 47:33 @ ST &1 x &7 A AT Hifard?

1.80

2.100
3.120
4.125
5.150



A boat starts travelling from point P, travels to point Q then returns to point P. The boat

takes 12 hours to complete the journey. The speed of the stream is S km/hour and the

speed of the boat in still water is 10 km/hour. What is the distance between P and Q?

Teh AT fdig PA AN AT Y& Bl &, g Q! AT didl & 3R Y g p o dledr &
ATT D ITET QU Pl H 12 g 0T &1 GRT hr a1fd 5 fhaAl/ger g 3R TR Sio & g &

afd 10 fpefi/erer &, PR Q& I fr gt m &7

1.45
2.25
3.35
4.55
5.60
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The ratio of the present age of M to that of R is 13 : 17. If the difference between the
present ages of R and M after 10 years will be 12 years, then what is the sum of the

present ages of M and R ?

M BT AT 3 3 RDBT 3MF T U 13: 17 &1 Iig 10 auf & a1 R AR MbT TIAT

3 & AT B AT 12 9Y @em, al M 3R R addA 31 P 19T AT &2

1.60
2.90
3.30
4.120
5.15



Pipe A and pipe B can fill a tank in 10 hours and 12 hours, respectively while pipe C takes
20 hours to empty the tank. Pipe B and pipe C were opened for 15 hours and then closed,
and then pipe A alone takes some time to fill the tank. Find the total time taken by all

three pipes to the tank by this process?

Ursy A 3R UISU BU&H Thl &l haAQM: 10 ¢ 3R 12 ¢ H I Hehd &, Sdich TSy C Thl &l

Grell B 3 20 ¢ ofdl &1 Usy B3R Usy CcH 15 € & fow @enm =m 3K fFT g =

feam arar, 3R TP Uiy A el Eh B WA H PO TAT oIdl &l 38 UlhaT gRT &k gk el
qrsTl gRT form IR el THIT AT HIiord?

1.16 hours
2.18 hours
3.20 hours
4.22 hours
5.24 hours




A man sold his article at 35% gain. If he sold articles for S0rs more, he would have gained P\
45% , If he wants a profit of 56% then what should be the marked price of the article if

there is no discount offered?

Teh <hfth HUAT T&] Pl 35% offH WX 99l §. Iig I8 IEIIN &l 50 IuT 3HTAUh H I §,
dl 38 45% &1 oA &I, ITG € 56% P oA ATl ¢ ol IiG HIS BT oIl af oIdl & ol
dE BT 3Hihd Hed FT AT dMfeu?

. Rs. 780
Rs. 886
. Rs. 892
. Rs. 986
. Rs. 850




Length and breadth of a rectangle are in the ratio of 4 : 3. If the area of rectangle is 108

m2, find the area of square whose side is equal to the breadth of the rectangle?

Ueh 3T Y ofars 3 TiSIg &7 U 4 : 3 & I I DT & Aol 108 dI1 A &, dl

qIT P & AT DIToTY [STHDT o AT Y TIsg & R &2

1.44 m?
2.56 m?
3.81 m?
4.58 m?
5.NOT



The marked price of a pair of shoes is 1300rs. It is sold at a successive discount series of
30%., 20% and 10%. Due to the discount, the seller faces a loss of 20%. What is the cost

price of pair of shoes (in Rs.)?

SId T T SIS T 3ifhd Hed 1300 IUY &l IS 30%, 20% 3R 10% T hiFd FJc HGdl
W I9T STl & F & DRI, TIshdl Dl 20% DI JhdT BT &1 Sd P FNST BT hT Hed
(Tq H) T §?

1.800
2.810
3.819
4.867
5.850



If the simple interest received on a certain sum at an interest rate of 12% per annum after
2 years is Rs. 756, then find the amount of compound interest that will be received on the
same amount of money at the rate of 8% per annum after 1 year when the interest is

being calculated half-yearly. (Approx)

?Jﬁzzrq‘fasarm’m/crﬁrzrézﬁrwm q(WW%@HﬂﬁWWWWW?%
TAY &, I Thglg dToT &l ATA ATT DI S 1 a¥ & d1G 8% Ufd ay hr g3 & 34T Ui

Wum%’ﬁrf‘rmq ATl P GATET IMUTAT hT ST T&T &2 (STITHT)

.Rs. 258
.Rs. 278
.Rs. 328
.Rs. 358
.Rs. 378

o B WN =




Two inlets A & B can separately fill a cistern in 8 hours and 12 hours respectively while a
third outlet C can empty it in 24 hours. In what time will the cistern be full, if all the pipes

are opened together?

&l 3delc A 3R B 3eT9T-37c19T Uch Tl ol hadAM: 8 B¢ 3R 12 ¢ H W Hbhd ¢ Sidich Teh
AT 3T3¢elc C3H 24 ©¢ H Wlell i JobdT ol Ife T ursal &l T 1Y Wid a1 J1w,
ar et fordar @HT & R Sruefr?

1.5 hours
2.6 hours
3.8 hours
4.9 hours
5.NOT




K and S enter into a partnership. K invests some money at the beginning, S invests half
the amount of K after 3 months, A invests double the amount of K after 6 months of

starting. If the annual profit is 57,000rs then find the share of S’s profit ?

K3 STH ARGl H Tdr &ld &1 KYLIHTT H o U7 fAdAq dr &, S3 A dig Kehr
31T A T fAAA HIAT &, AYE LA b 6 i K A &7 g Haer wxar g1 I
g SfTH 57,000 IUY &, ol S oA &1 fFEAT <1 Hifad?

.Rs. 14,000
.Rs. 9,000

.Rs. 17,000
.Rs. 13,000
.Rs. 18,000

o B WDN =



R bought a laptop for 14500rs and spent 500rs on its repairing. He promised S to sell the
Laptop at 10% discount, but he still earns a profit of 5%. Find how much more did he

mark the laptop than the price for which he bought the laptop?

RA 14500 ¥UY & folt U& oigeid Wer AR ggdr FEAT W 500 TqY @A fhU| 39 SHl
ofUCiy &Pl 10% [T W ddod hI digl ThaT, oifhed ag 3 8T 5% &I o1 HATAT & A1
T b 38 olUciU &l 38 Hed G fohder HiQoh 3ifhd fhar fo@d fow 384 ofueiy

TRIGT AT?

.Rs. 2500
.Rs. 17500
.Rs. 3000
.Rs. 7500
5.NOT

B~ WN -



8, 12, 24, 46, 72, 108, 152

1.12
2.24
3.46
4.72
5.NOT



850, 600, 550, 500, 475, 462.5, 456.25

1.600
2.550
3.500
4.462.5
5.NOT



The compound interest on a certain sum of money invested for 2 years at 5% per annum P
is 328rs. The simple interest on the sum, at the same rate and for the same period will be?

5% Ufd ¥ &Y g & 2 auf & fow Aay & 5 v AT U W Tngly <arer 328 0
T T W, FA X W AR FA 30 & fow IaRor s F41 ghom?

.Rs. 320
.Rs. 350
.Rs. 400
.Rs. 335
5.NOT

B~ W N -



8.33% of 360 + 9.09% of 1331 =108 + ? ot 43%

1.120
2.128
3.115
4.100
5.126



20% of 280 + 48 ~ 36 x 9 - 4 = (?)?

1.4
2.64
3.8
4.16
5.32




